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Hi! Can you help me solve some problems in my factory?





One Wonka Inventing Room Peanut Butter & Jam bar weighs 110g.





The ingredients weigh:


Cocoa = 50g


Peanut Butter = 30g


Jam = 20g


Sugar = 10g





What is the total weight of two bars?








What is the total weight of ingredients needed for three bars?


Cocoa = 


Peanut Butter =


Jam = 


Sugar = 





A small Golden Chocolate Egg weighs 60g.





The ingredients weigh:


Cocoa = 25g


Sugar = 10g


Gold Luster = 25g








Willy Wonka wants to make a giant Golden Chocolate Egg that is 3 times bigger!





What will the giant Golden Chocolate Egg weigh?








What will the ingredients needed weigh?





Cocoa =


Sugar =


Gold Luster = 








